[image: image1.png]7. Estimate each sum or difference.
a) 680 + 213 b) 2761 — 1780 ¢) 176 +412
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9. For a Read-A-Thon, Natalie read 786 pages.
Kevin read 815 pages. Mario read 623 pages.
Altogether, they read ayer 2000 pages.
a) Is 2000 exact or an estimate? How do you know?
b) About how many more pages did Kevin read than Mario?

gLt is an estimade becawse it says over 2000,

b) %00 Kevin recd bt 200 more
-&,0 Pogges then Mano.



[image: image2.png]6. Use aVenn diagram to sort these numbers:
3057, 555, 2454, 333, 636, 22, 4444
You choose the attributes.






[image: image3.png]10. Add or subtract. How do you kno ur answers are reasonable?
a) 21 1 b) 452 ) 800 d) 4579
— 878 + 348 — 298 +3975
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